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Marking Scheme January 2001
any valid suggestion: eg node required at centre B1
touch centre while bowing at ¥ pt B1[2]
OR increase tension B1 by afactorof 4 B1
OR shorten length B1 byafactorof 2 B1
correct wave drawn {do not allow ‘sine wave’ unless ecf from (i)} B1 [1]

{allow ecf from (i) -i.e if wave drawn has double freq.” of cand.’s wave

in (i)}
QUESTION TOTAL ue

the spreading out of wavefront/waves B1
{do not allow “spreading out of light/sound” “bending of light/waves?

when they pass through a gap (OR pass an obstacle) B1[2]
a straight strip (OR bar OR ruler) B1

is vibrated vertically OR up and down (in the water) B1[2]
increase the frequency (of the waves/wave source)

OR use a shallower depth of water B1 [1]
semicircular wavefronts drawn B1

no change in A : i.e approx. same A before & after gap B1[2]
less diffraction occurs B1
wavefronts only slightly curved at edges (WTTE) (OR diagram) B1[2]

{ full marks may be scored from a valid diagram}

Wavelength of light much smaller than most normai gaps B1[1]

QUESTION TOTAL ua
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